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> 8 589 22 4 -4 68 0 300 969
ZAMGE | A@IA) 18, 259 682 |24 -434 2,105 0 9,300 30,036
N ] 659 22 4 -4 76 0 300 |, 047
22 A@IA) 20, 429 682 | 24 -434 2,351 0 9,300 32,452
> [N 732 22 4 -4 84 0 300 I, 128
ZE 3 A@GIA) 22,692 682 |24 -434 2,606 0 9,300 34,970
> [Nz 802 22 4 -4 92 0 300 I, 206
&N& 4 B@GIA) 24,862 682 |24 434 2,851 0 9,300 317, 385
> [N 871 22 4 -4 100 0 300 I, 283
ENES B@GIE) 27,001 682 |24 -434 3,093 0 9,300 39,766
EXEE \
NEX D AR NEE %@f;l‘* BEAHME ] 2 | REEEAERE | WBKEMEV 4 BEE a5 FI AR &
> I 8 589 22 4 -4 68 430 390 I, 489
ZAME | A@GIA) 18,259 682 |24 -434 2, 105 13,330 12,090 46, 156
N = 659 22 4 -4 76 430 390 I, 567
&ME2 B@GIA) 20, 429 682 |24 -434 2,351 13,330 12,090 48,572
B 3 = 732 22 4 -4 84 430 390 I, 648
e A@GIA) 22,692 682 | 24 -434 2,606 13,330 12,090 51,090
EAEL = 802 22 4 -4 q2 430 390 I, 726
e A@GIRE) 24,862 682 |24 -434 2,851 13,330 12,090 53, 505
ENES = 871 22 4 -4 100 430 390 I, 803
e A@GIRE) 27,001 682 | 24 -434 3,093 13,330 12,090 55, 886
EXFELEHO) '
NER MR N % | w1 2 | pRERLAS | wARENEV | BER & FlRARE
BAE | I B 589 22 4 -4 68 430 650 I, 749
e A@IR) 18,259 682 | 24 -434 2,105 13,330 20, 150 54,216
T2 = 659 22 4 -4 76 430 650 I, 827
e A@IR) 20,429 682 | 24 -434 2,351 13,330 20, 150 56, 632
B 3 = 732 22 4 -4 84 430 650 l,908
e A@GIA) 22,692 682 | 24 -434 2,606 13,330 20, 150 59, 150
BAE L = 802 22 4 -4 92 430 650 l,986
e A@GIA) 24,862 682 |24 -434 2,851 13,330 20, 150 61,565
EANES = 871 22 4 -4 100 430 650 2,063
e A@GIR) 27,001 682 | 24 -434 3,093 13,330 20, 150 63,946
(% 3 ERrEQ)
NER MR NER o w1 2 | pEERLAS | wARENEV s | BER & Fl AR S
BAE | = 589 22 4 -4 68 430 I, 360 2,459
= BGIE) 18, 259 682 124 -434 2,105 13,330 42,160 76,226
B2 = 659 22 4 -4 76 430 I, 360 2,537
o= A@IA) 20,429 682 | 24 -434 2,351 13,330 42,160 78, 642
B4 3 = 732 22 4 -4 84 430 I, 360 2,618
= A@GIA) 22,692 682 | 24 -434 2,606 13,330 42,160 81, 160
BAE L = 802 22 4 -4 q2 430 I, 360 2,696
= A@GIA) 24,862 682 | 24 -434 2,851 13,330 42,160 83,575
BAES I B 871 22 4 -4 100 430 I, 360 2,773
= A@GIA) 27,001 682 | 24 -434 3,093 13,330 42,160 85, 956
EXN:4
NEX S ER nEg | ToDAER L2 | pwwmsenn | wasennve|  BER ™ FIAE S
BAE | I B 589 22 4 -4 68 q15 |, 445 3,029
o= A@IA) 18, 259 682 | 24 -434 2, 105 28, 365 44,795 q3, 896
FAE 2 8 659 22 4 -4 76 qi5 |, 445 3, 107
o= A@IA) 20, 429 682 | 24 -434 2,35l 28, 365 44,795 96,312
B4 3 1B 732 22 4 -4 84 qi5 |, 445 3, 188
= A@GIA) 22,692 682 | 24 -434 2,606 28, 365 44,795 g8, 830
BAEL 1B 802 22 4 -4 q2 qi5 |, 445 3, 266
o= A@IA) 24,862 682 | 24 -434 2,85l 28, 365 44,795 101,245
BAES 1B 871 22 4 -4 100 qi5 |, 445 3,343
o= A@IA) 27,001 682 | 24 -434 3,093 28, 365 44,795 103, 626
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BANE | ] 589 22 4 -4 68 380 300 I, 349
= A(318) 18, 259 682 124 -434 2,105 11,780 9,300 41,816
BNE 2 ] 659 22 4 -4 76 380 300 I, 427
= B(318) 20,429 682 124 -434 2,351 11,780 9,300 44,232
B4 3 18 732 22 4 -4 84 380 300 I,508
= A(318) 22,692 682 124 -434 2,606 11,780 9,300 46,750
BNE 4L ] 802 22 4 -4 q2 380 300 I, 586
= A(318) 24,862 682 124 -434 2,851 11,780 9,300 49, 165
BAES ] 871 22 4 -4 100 380 300 l,663
= A(318) 27,001 682 124 -434 3,093 11,780 9,300 51,546
EXET)
NER D MR R | ot ER L maenn 2 | peemsens | wasengve|  BER an FIE RS
BAE | ] 589 22 4 -4 68 480 390 l,539
= A(318) 18,259 682 124 -434 2,105 14, 880 12,090 47,706
BNE 2 ] 659 22 4 -4 76 480 390 1,617
= A(318) 20,429 682 124 -434 2,351 14, 880 12,090 50, 122
T3 ] 732 22 4 -4 84 480 390 I, 698
= A(318) 22,692 682 124 -434 2,606 14, 880 12,090 52, 640
TN L 18 802 22 4 -4 q2 480 390 I, 776
= A(318) 24,862 682 124 -434 2,851 14, 880 12,090 55, 055
EAES ] 871 22 4 -4 100 480 390 I, 853
= A(318) 27,001 682 124 -434 3,093 14, 880 12,090 57, 436
(% 3 BFEQD]) \
NEXH MR nER | TR Lewennn 1 o | guemanan | naennyve | BEH af FIAEE
TN | ] 589 22 4 -4 68 880 650 2,199
= A(318) 18, 259 682 124 -434 2,105 217, 280 20, 150 68, 166
T2 18 659 22 4 -4 76 880 650 2,277
= A(318) 20,429 682 |24 -434 2,351 217, 280 20, 150 70, 582
=43 ] 732 22 4 -4 84 880 650 2,358
= A(318) 22,692 682 |24 -434 2,606 217, 280 20, 150 73, 100
TN L ] 802 22 4 -4 q2 880 650 2,436
= A(318) 24,862 682 |24 -434 2,851 217, 280 20, 150 75,515
EAES ] 871 22 4 -4 100 880 650 2,513
= A(318) 27,001 682 |24 -434 3,093 217, 280 20, 150 77, 896
[ 3 FEQ] \
NERH MR NEE e w1 2 | pEERsay | wAREngye | BER &% P
TN | ] 589 22 4 -4 68 880 I, 360 2,909
= A(318) 18, 259 682 124 -434 2,105 217,280 42,160 q0, 176
> 18 659 22 4 -4 76 880 I, 360 2,987
EfNE2 B(318) 20,429 682 124 -434 2,351 217,280 42,160 92,592
> 18 732 22 4 -4 84 880 I, 360 3,068
ENE3 A(318) 22,692 682 124 -434 2,606 217,280 42,160 q5,110
> 18 802 22 4 -4 q2 880 I, 360 3, 146
ENE4 A(318) 24,862 682 124 -434 2,851 217,280 42,160 417,525
= ] 871 22 4 -4 100 880 I, 360 3,223
ENES |6 27,001 682 124 i3k 3,093 27,280 42,160 99,906
(% 4 ERPE) \
NEX D AR N & ey | B 1 2 | gy | vadEnny 4 | BER Y AL S
TAE | 18 589 22 4 -4 68 1,231 I, 445 3,345
" B(318) 18,259 682 124 -434 2,105 38, 161 44,795 103, 692
> 18 659 22 4 -4 76 1,231 I, 445 3,423
ENE2 B(318) 20,429 682 124 -434 2,351 38, 161 44,795 106, 108
> I8 732 22 4 -4 84 1,231 I, 445 3,504
ENES3 B(318) 22,692 682 124 -434 2,606 38, 161 44,795 108, 626
> 18 802 22 4 -4 q2 1,231 I, 445 3,582
ENEL B(318) 24,862 682 124 -434 2,851 38, 161 44,795 111,041
> I8 871 22 4 -4 100 1,231 I, 445 3,659
ENES B(318) 27,001 682 124 -434 3,093 38, 161 44,795 113,422




